it T
94 & B % o pipd, 21 &
Eep £ ! p
CAATR 3 B 5
i g s 4 R AEFAETR | LA EA Ry s
LS wo W )19 AN ., N arr s
v s I 2 2 b LB
~ ”li?ifﬁ'.ﬁ{;?’]‘%-%’\i %ﬁ (;ﬁ-f i A ﬁ 4 > R ETAH pg*&.ﬁ‘:ﬁdpa
AR
e E A A S I
A%
|:|p L P
"“ ?#ﬁfﬁé%ﬁﬂféiﬁ#ﬁs}‘ﬁi*{%
ow s W & P . .
_ \/,&’\?Eq#‘% D““ ?%F&gf*lﬂl"ﬁélr— Dr-Jﬁ;DW r-Jﬁ,E.
ﬁ};x 3 A P ,L
O7 zﬂ"h=€ﬁﬂ IEE T PR
I O3 R & ¢ 3 ek ’N&u.n%
M Pl e rpigsipbpogpe e Oz 4|07 &
O 2dsf o A% Nk L§ HHP P
_ O &8 R A s 20 % 4
= > &#FL/'&/H\ '
?r:i-‘ﬁs@ O % dud & A d AR GF22 (O #07 4
{
O2Jf 4e 1 45 8% 2 734y
o~ H o Ot f * Bk T2 ipdy O¢+ |03 &+
Ov Fﬁ‘l‘ I > |i1~'ﬂr7§ X
O¢ 34 2be B9f 4 - e BmE &
7oA | AP E
Fﬁﬁmgm%;ﬁééxﬂj & " Dew|paen
M P
O g xEG »cdprle b g
OV 7 72 T 1A B 1 2 5408 5Pk
O7 @z F 4+ 7 4 Tt
RETIRE 2
O & Jop 7 4
F O .
A +F
5 4
L E R R FAY - TR FR R RETR Y G AT -

R —1




2 fePbihdsd MR (B AT A R R AP E R AE I T TA)

HLEIEPp hEPF & #
ﬁ?ﬁﬁ}},‘fh ?‘F— O ;:‘}L ’%‘1 ’ 1
s P - _ kB e by pE
FerEL | Fiiji AR HRBPE AR N

‘o <. - IENE R o S0
PRl B B RARPAE . Sy /LL 5

|7 ]

SRR S HOTokE i ! P

OX Geid 5 vexad pF o 4F AU B9 dicss & JF A0 % v dc

D‘&m‘;{% s ;\“i:_"""g?g{, ESR F#E

O T7l&7%16pw £ E

(dyvplic— Setad A4 L2 75 59 lo) x130% =7~ 5l (31)

( — ) x130% =

O T7l&7%16p# &g E

(*U'“’*Fﬁt— Grnid A4 L2 N BERE) =k PRk (1)

RN F i d ( ) =

O 81 B ecy # i £t > 2 3

O 81 # & e 45 g % iy

OF 2 e fei e g icd TR % 5 2 J B
1% IE‘J/"E';,“#F& T 2

FHEE S EWEK
BN TR T A5

(B 81 & #o #5 fihdp % o B A B X Eopdicdn & )

A2 - 2k K

[

FAFT
=l
3
&
3
X

L8l Err kA o BN EBGE F S A2 - o a B ALK EEREA R
RBOR S m R T O~ (S R RS Y o il 37,25 v#p RIS Eedic 2 18,625 #f
QBB T T o~ 5 190> @ H R Bk EeREct A Bl 37.256—19=18.25 > /| 2k
M T ~{s 5 18 #F o

r~FPEEE

CI% - i 24 e~ g @%‘:;;z&%‘é R ER

E‘zg’f+/ﬂ‘§|~ ﬁl"ﬁé—ﬁ E2N w&‘/&"—% ‘é{::*gi;,éi‘é;
Yo ERE e O = g i A g s k2 B g AR 2 gy ool R R 5

O% = Mg jhdpe @4 ¥ @22 Rg 2T

F N
CReRy :EFFZ?%

BRI —2




JeRE R - RIS (TR R BB T e BT O 2 sREG

DR S ud

oo (% 1 2% 5 o) § Ax (#) = g +
Foefs (% 6 2% 10 o) B Ax (#) = g -
e (% 1192 % 20 o) B Ax (#) = g -
Frefs (%2191 % 50 #F) B Ax () = g +
%I e (% 519 % 100 #F) B Ax (#) = g -
oo (5101 #E ) ¥ Ax (%) = ¥ + %

ﬂwgvlfcaif}: Ba

t
N
&

ki

A~ SR
-
el

k)

Hp = T
=

hEF hEF o F
KA R & KR
& ¥ & ¥ 8 %

RritI —3




TRER o3 F 8l & Rec§ 45 R ip E 2 jRap o s
(127 5 ot o) BB T w BT (5 2 el B

= i R
KLk BRI A il
OREN LS S L P

Fovis (% 192 % 5 ) g ~x (vf) = q +
Fowps (% 6 93 % 10 =) ¥ X (vf) = q + A
Fowpls (% 11932 % 20 &) g ~x (vp) = g +
Freps (%2193 % 50 &) ¥ X (vf) = 3 + =
$ 3 (55193 % 100#) ¥ x (¥) = 3 +
¥ eps (5 101 #t) ¥ Ax (1) = ¥ + A
)3 q +
KA B S EWRINA L KE AR RS A2 - LN EREKE L3R 00 2 vk
$oes (% 1 9I% 5 Fax () x90% = ¥ T
Fowps (% 6 93 % 10 &) ¥ X (¥) x90% = q i
oo (51192 % 20 %)  Fax (o) x90% = ¥ 7 A
Freps (%2193 % 50 &) ¥ X (¥) x90% = g i
7w (%51 %3 % 100 #) X (¥) x90% = ¥ R
yoaepa (% 101 @2 b)) g X (%) x90% = g B
)3 ¥ B
rpER L ¥ + BE
. ;i
¥

hEE i .

KyEL R & B &

& ¥ & ¥ & %

BRI —4




